


Read the instructions carefully before writing in the copy

(Instruction:- Diagrams to be drawn with sharpened pencil and at the center of
the page leaving enough space on either side for labeling. A margin is to be drawn
all the four sides of the plain page on which the diagrams are drawn. Labeling has

to be done with pencil only, NO colour pencil or sketch pen to be used. All

diagrams are to be done by graphite pencil only. Format for writing the
experiments as given in the PDF should be strictly followed. If the instructions are
not followed the work will not be evaluated.

Buy a thick practical copy from the book stall. Do not write anything on the
Certificate Page as well as on the Index page. That will be filled in the class in the
presence of the concern teacher. Now on the Centre of the next ruled Page Write
in Bold latter- “CELL DIVISION”.

Then turn to the next page. On the plain side You will draw the diagram of each
of the stages of cell division given below. Here you do not need to write the notes
of each stage on a fresh page. You may write about two stages on the same page.
Because all these are coming under the title :- Experiment 1.But make sure the
diagram is drawn just on the opposite side( Plain page) of the notes on each stage.
That means both should come face to face)

Cell Division
Experiment 1
Stages of mitosis.
Aim:- To study the various stages of mitosis
from permanent slides.

Observation:- Mitosis is a type of cell division in which
one cell gives rise to two daughter cells
which have the same number of
chromosome as in the parent cell. In
this cell division nuclear division




(Karyokinesis) takes place first which
takes place in four phases.

Prophase

Events that occur during Prophase.

1. T

he chromatin fibers disentangle,

. The

condense and appear as
duplicated chromatids attached
by centromere.

. In Animal cell, the centrioles split

and migrate to the opposite poles.
spindle fibers appear
between the two poles of the
dividing cell.

. Nuclear membrane and nucleolus

disappear.
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Events that occur during Anaphase. 1. The centromere split dividing the
chromatids which are pulled
towards the opposite poles of the
cell due to the shortening of
spindle fibers.
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Events that occur  during 1. The chromatids wuncoil into
Telophase. chromatin network.

2. Nuclear membrane and nucleolus
reappear forming two daughter
nuclei.
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(Instructions:- Now turn to a new page and write at the center in bold
letters what is given below)

Plant Physiology

(Instructions:- Now turn to the next page and write the notes on the ruled
page and diagram on the plain page as it is given below.)

Experiment 2

Study of Diffusion

Aim:

Requirement:

-Procedure: -

Observation :-

Inference :-

To demonstrate the process of diffusion

A beaker, distilled water, a few crystals of potassium
permanganate.
A few potassium permanganate crystals were droppedin a
beaker filled with distilled water. The beaker was left
undisturbed for a few hours.
The dissolution of potassium crystals took place immediately.
In the beginning water in the vicinity of thecrystals becomes
violet in colour. Finally the whole water turned pink.
The molecules of potassium permanganate were highly
concentrated in the crystals. When the crystals dissolvedthe
molecule still was at higher concentration than the rest of the
water in the surrounding area. The moleculesmoved from their
region of higher concentration to their
region of lower concentration. The trend continued tillthe

molecules were uniformly distributed.




The experiment demonstrate diffusion which is the
movement of molecules from their higher concentrationto
their lower concentration when they are in direct

contact.

DEAKER

WATER

POTASSIUM
PERMANGANATE
CRYSTALS

(Instruction:- Now Turn to a new page and draw the diagram on the
plain page and notes on the ruled page as it is given below. Likewise
each experiment should start on a new page till experiment Number 11)

Experiment 3

Study of Osmosis

Aim :-
Requirements :-

Procedure :-

Observation :-
Inference :-

To demonstrate osmosis using a potato osmoscope.

A raw potato, a petridish, concentrated sugar solution,
distilled water, and a paper pin.

A large sized potato was peeled and a cavity was made
with a cork borer. The cavity was filled with
concentrated sugar solution and its level was marked by
a pin. The petridish was filled with water and a potato
was placed in it

The level of sugar solution rose in the cavity.

The water molecules move from their region of higher
concentration to their region of lower concentration
through the differentially permeable membrane of the
cells of potato.




Potato Osmoscope

Experiment 4.
Study of Transpiration
Aim :- To demonstrate transpiration in plants.
Requirements :- | A potted plant, a polythene bag and a thread.

Procedure :- A well-watered potted plant was taken and its aerial
part was covered with a transparent polythene bag. The
mouth of the polythene bag was tied around the base of
the stem. The plant was left in sunlight for a few hours.

Observation :- | Tiny droplets appear in the inner surface of the
polythene bag.

Inference :- The water transpired by the aerial parts of the plants

and condensed on the inner surface of the polythene
bag.

Polythene bag

water droplets

Plant




Experiment No. 5
Study of Unequal Transpiration on a dorsiventral leaf.

Aim:- To demonstrate unequal Transpiration on a dorsiventral
leaf using a dry cobalt chloride paper.

Requirements:- | A potted plant, Two Dry glass slides, Dry cobalt chloride
paper, Paper clips.

Procedure:- Two strips of dry cobalt chloride papers are
placed on both sides of a selected leaf and glass slides
are place over it and fixed it by using paper clips.
Observation:- The cobalt chloride paper fixed on the lower surface of
the leaf turns pink earlier as compared to the paper
fixed on the upper surface.

Inference:- More transpiration takes place from the lower surface of
dorsiventral leaf due to the presence of more stomata.

dorsiventral leaf

-cobalt chloride paper
— —Eglass slide

N
" paper clip

Experiment 6
Study of Ganong’ s Potometer

Aim :- To demonstrate uptake of water and rate of
transpiration using Ganong’s Potometer
Requirments:- | Ganong’s Potometer, Twig of coleus, Beaker, water,
eosin solution.
Procedure:- i.  The twig of Coleus is cut obliquely under water

and fitted at one end of the graduated capillary
tube of the photometer.

ii. The photometer is filled with water.

iii. The end of the graduated tube is dipped in a
beaker containing coloured water.




iv. Anair buble is introduced in the graduated tube
by lifting the tube above the coloured water.

Observation:- The air bubble moves forward in the capillary tube
as transpiration takes place from the twig.

Inference:- As Transpiration occurs from the twig, suction force
develops which pulls the coloured water from the
beaker. This causes the air bubble to move forward.

Graduatve capilery hube
Aur bustie

......

Experiment 7

Study of Starch Test
Aim :- To test the presence of starch in a green leaf
Requirement :- A beaker, watch glass, methylated spirit, water, iodine
solution and a burner.
Procedure :- A leaf was detached from a plant and boiled in water for

a few minutes. This was to destroy the enzymes and kill
the cells to make them permeable. The leaf was then
boiled in methylated spirit in a water bath to remove the
chlorophyll. The leaf was again washed with water to
remove excess of alcohol. The leaf was then placed in a
petridish and iodine was pored over it.

Observation :- The leaf turned blue black

Inference :- The part of the leaf containing starch turned blue black
on coming in contact with iodine solution.




Leaf in boding Leat in alcohol, Leaf in water at S
water heated in water bath  room temperature  few drops of iodine salution are

o decolourise the leaf added over the decolourised leaf

I ] ] Y

Procedure to decolourise the leaf and 1o test the presence of starch

Experiment 8
Chlorophyll for Photosynthesis.

Aim :- To demonstrate chlorophyll is necessary for
photosynthesis.

Requirement :- A potted plant with variegated leaf and iodine solution.

Procedure :- A potted plant was destarched by keeping it in a dark

room for 48 hours. The plant was then exposed to
sunlight for a few hours. A leaf was detached and drawn
on the paper to mark the distribution of chlorophyll.
Then the starch test was performed.

Observation :- Only the green parts of the leaf turned blue black
showing the presence of starch.
Inference :- The green parts of the leaf contains chlorophyll and it is

these parts which manufactures starch. Hence
chlorophyll is necessary for photosynthesis.

“blue black

) an

Vartegated leaf (a) boefore
and (b) after starch test

Experiment 9
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Sunlight for Photosynthesis

Aim :-
Requirement :-

Procedure :-

Observation :-

Inference :-

To prove that sunlight is essential for photosynthesis.
A potted plant, black chart paper, clips and iodine
solution.

A potted plant was destarched by placing it in complete
darkness for 24 - 48 hours. A leaf of the destarched
plant was covered with black paper on which s certain
design was cut and it was attached to the leaf by paper
clips. The plant was kept in sunlight for a few hours. The
leaf was removed and tested for the presence of starch.
The portion of the leaf covered with black paper
remained brown while the exposed part turned blue
black.

The portion of the leaf exposed to sunlight turned blue
black due to the formation of starch. Hence sunlight is
essential for photosynthesis.

Sunlight

Experiment 10

Carbon dioxide for Photosynthesis

Aim :-
Requirement:

Procedure :-

To show that carbon dioxide is necessary for
photosynthesis.

A conical flask, cork, caustic potash pellets, petridish,
iodine solution.

A potted plant was destarched by keeping it in darkness
for 24 to 48hours. The cork was spilt vertically. A few
caustic potash pellets were introduced into the flask. A
leaf from the destarched plant was fixed between the
two pieces of cork and the cork was fitted tightly in the
mouth of the flask. The leaf was so adjusted that half of it
was outside the bottle and the other half inside it

10
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Observation :-

Inference :-

After a few hours the leaf was removed from the plant
and tested for starch. The part of the leaf inside the flask
did not turn blue black but the part outside the bottle
turned blue black with iodine solution.

Caustic potash solution absorbed all the carbon dioxide
inside the bottle. Therefore no photosynthesis took
place inside the flask due to the absence of carbon
dioxide.

Experiment 11

Liberation of oxygen during photosynthesis.

Aim :-
Requirements :-
Procedure :-

Observation :-

Inference :-

To show that oxygen is liberated during photosynthesis.
A beaker, Funnel, test tube and a water plant ( hydrilla)
Some twigs of a water plant were taken and placed
under a funnel in a beaker containing pond water. A test
tube filled with water was inverted over the stem of the
funnel. The apparatus was placed in the sun for a few
hours.

Bubbles of gas was collected in the test tube. The gas
collected re kindled a glowing splinter.
The gas liberated during photosynthesis is oxygen.

11
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test tube

beaker

funnel

hydrilla plant
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HOLIDAY HOMEWORK 2024-25

ECONOMICS PROJECT

STANDARD - 10

TOPICS
1. Banking
2. Village Survey
3. Market Survey
4. Household Survey

Each Project 25 Marks

Two Projects in two Practical copies to be used.
Two Projects in each copy.

Project -1

Banking

Acknowledgement

Content

Location of the Bank

Explain about the function of the Bank . Refer Book -Chapter -17 Banking
Function of commercial and Central Bank in detail.

Take interview of Bank employee

N o v ks wN e

Question to be asked

(a) What is your Name ?

(b) From How many years you are in this job?

(c) Are you satisfied with your job?

(d) What is your future prospect in this job?

(e) Any problem that particular branch is facing?
8. Conclusion

Project -2

Village Survey

Acknowledgement

Content

Name and Location of the village from nearest railway station

Area of the particular village.
Population ratio of Male and Female.

SO A

Educational facilities — School and College 7. Occupation — Like farming ,Cattle rearing
etc.

8. Write about MGNREGA.
9. Transportation facility
10. Sources of water like well, tube well



11.
12.

13.
14.
15.

Electricity facilities

Waste management — How they dispose waste ? Whether they have proper drainage

system? Sanitation facility

What problem that particular village is facing like lack of electricity,road
What step should be taken by the Govt. for the upliftment of the village

Conclusion
Project -3
Household Survey

Take ten houses for survey and collect these information from each household.

Name of the head of the family

Number of family members in the house and children.
Number of earning members

Whether joint/Nuclear family

Income and expenses of the family on various head.

SN O o

Food
Cloth
Rent
Education
Electricity
LPG
Expenditure on LIC premium
Servant
Other expenses Medicine etc.
Saving
7. Conclusion

Project-4

Market Survey

Select ten shops for Markey Survey

LA A

Location of the shop
Name of the owner
Five products weekly sale

Five brands of each product to be selected to observe their sale.

Product : Pen, Shop, Shampoo, Toothpaste, Chocolates Eg.

ltems Expenditure

Cello Agni Trimax Link

Flair

10 50 5 20

50

Interview of the consumer

(a) Which product do you like ?

(b) What is the basis behind the choice of the product?
(c) Conclusion







Holiday Homework
Std. 10

(The Holiday Homework isto be donein your classwork notebook.)

English L anguage

1. Do question 5 (Do as Directed) of Papers 10 to 15 from your Text Book - Pearls of English Language
2. Copy down the following Proverbs in your notebook and learn them. Learn their meaning too.

List of Proverbs

Actions speak louder than words.

An apple aday keeps the doctor away.
A bad workman blames his tools.

Do not put all your eggs in one basket.
Blood is thicker than water.

L et bygones be bygones.

If the cap fits, wear it.

Character is destiny.

Do not count your chickens before they are hatched.
10. Too many cooks spail the broth.

11. Failure teaches success.

12. Fortune favours the brave.

13. A friend in need is afriend indeed.

14. When God shuts one door, He opens another.
15. Make hay while the sun shines.

16. Two heads are better than one.

17. History repeats itself.

18. Hunger is the best sauce.

19. A jack of all trades and master of none.
20. He knows most who speaks least.

21. Knowledge is power.

22. Better late than never.

23. Look before you leap.

24. Out of sight, out of mind.

25. Absence makes the heart grow fonder.

©COoONOUA~WONE

English Literature

Q1. ICSE 2008
Read the extract given below and answer the questions that follow-

Caesar: Arewe al ready? What is now amiss,
That Caesar and his senate must redress?
Metellus: Most high, most mighty, and most puissant Caesar,
Metellus Cimber throws before thy seat
An humble heart.
[knedling]

a) Where are the speakers? What does "puissant’ mean?

Explain: 'Metellus Cimber throws before thy seat an humble heart”. [3]
b) At the start of the scene what reply does the soothsayer give when Caesar says,

"The Ides of March are come? What was Caesar's attitude then? Give areason for your answer. [3]
c) What specific duties have been alotted by the conspirators to Trebonius and Casca?

Why does Cassius become nervous when Popilius Lena speaks to him as they enter? [3]



d)

Who else had a petition for Caesar? How did Caesar respond to his pleas that his was a suit that
'touches Caesar nearer? What characteristic of Caesar is seenin hisreply? [3]

e) Shortly after this Caesar is stabbed to death by the conspirators. At this point in the play what are
your feelings for (a) Caesar and (b) the conspirators.
Give one reason each to support your answer. [4]
Q2. 1993 ICSE

Read the extract given below and answer the questions that follow:-

Cassius: | know not what may fall; | like it not.
Brutus: Mark Antony, here, take you Caesar's body.

d)
€)

Y ou shall not in your funeral speech blame us.
But speak al good you can devise of Caesar,
And say you do’t by our permission;

Else shall you not have any hand at all

About his funeral. And you shall speak

In the same pulpit whereto | am going.

After my speech is ended.

State what Cassius does not like. What is the reason for Cassius’ dislike?

Earlier, Brutus assured Cassius that he would take precautions before Antony is allowed to speak at
the funeral of Caesar. State two of the precautions Brutus said he would take in this regard.
Enumerate the conditions laid down by Brutus on Antony before the latter was alowed to speak in
Caesar's funerd.

Narrate briefly the prophecy of Antony over the corpse of Caesar.

Give five of the statements put forward by Antony in his funeral speech which roused the people
against the conspirators.

Q3. ICSE 1990
Read the extract given below and answer the questions that follow:-

Antony: Hie hence and tell him so. Y et, stay awhile,
Thou shall not back till I have borne this corpse
Into the market place; there shal | try,
In my oration, how the people take
The cruel issue of these bloody men;

a) Towhom was Antony speaking? Where were they? How had the person being spoken to come to
be there?

b) What did Antony mean by “Hie hence and tell him so"?

c) What is a “corpse”? Whose was it? How is this brought out in line 5 of this extract?

d) What is meant by the word “oration?” How did Antony come to make this oration?

€) What did he mean by “how the people take”? What instruction did Antony now give this person?

f) State how Antony turned the public against the conspirators.

Q4. Copy question and answer 13 from page 133 of your Text Book — W. Turner
Describe in your own words the speeches of Brutus and Antony.
List down the relative significance of both.



Name of the Topic:
INDUSTRIES IN INDIA

Format Of The Project :

i) Acknowledgement
i) Contents

1. Introduction of the topic
2.Importance and classification of industries.

3.Agro based industries in India

i) Sugar industry

ii) Textile industry (cotton & silk)

4 Mineral based Industries in India
i) Iron and steel industry

if) Petrochemicals

i) Electronics

5.Conclusion

6.Bibliography.

Points To Be Notad iMwen Writing A Project :

1. Follow the format of the project which s given to you.
2. Handwriting should be neat and words should be clearly written.

3. Use either a blue or black Gel pen for writing. s
4. Headings and subheadings should be clearly written an g A
5. Pictures should be pasted neatly and headings should be givenPictures should be 6. 6.

Photostatted and diagrams and sketches should be used to explain facts.

7. No decorative materials to be used

8. The topic heading the name the class and roll no. of the student should be
written on the first page of the project copy.

9. Refer to the textbook chapters 10 & 11.

10.Use only practical notebook prescribed by the school.
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MATHEMATICS HOLIDAY HOMEWORK, CLASS X
Chapter - Banking

. Kavita has a cumulative time deposit account in a bank. She deposits 600 per month and
gets 6165 at the time of maturity. If the rate of interest be 6% per annum, find the total
time for which the account was held.

. Kavita has a cumulative time deposit account in a bank. She deposits ¥F800 per month and
gets 16700 as maturity value. If the rate of interest be 5% per annum, find the total
time for which the account was held.

. David opened a recurring deposit account in a bank and deposited ¥300 per month for two
years. If he received ¥7725 at the time of maturity, find the rate of interest per annum.

. Preeti has a recurring deposit account of 1000 per month at 10% per annum. If she gets
5550 as interest at the time of maturity, find the total time for which the account was
held.

. Rekha opened a recurring deposit account for 20 months. The rate of interest is 9% per
annum and Rekha receives %441 as interest at the time of maturity. Find the amount
Rekha deposited each month.

. Mr. Sonu has a recurring deposit account and deposits 750 per month for 2 years. If he
gets 19125 at the time of maturity, find the rate of interest.

Chapter - Linear Inequation

CASE STUDY BASED QUESTIONS

1. Case Study I : Shivam's father is a building contractor. One day Shivam got his father's
measuring tape. He used it to find the dimensions of the kitchen garden in his home.
He found that the length of the garden is one metre more than twice its breadth. He
told his friend Akhil that the perimeter of the garden is more than or equal to 110 m
and is less than or equal to 140 m.
Based on this information, answer the following questions:
1. If breadth of the garden is x m, then algebraic representation of the given

information is :

(@) 140 < 6x + 2 <110,x€R
(b) 110 < 6x+2<140,x€eR
(c) 110 <4x + 2 <140,x€eR
(d) 110 < 2x + 1 < 140, x € R

2. The solution set for the breadth of the garden is :
(@) {xeR:18 <x <23}
(b) {x e R: 16 < x < 24}
(c) {x€eR:18 < x <24}
(d) {x€eR: 20 < x <28}
3. The greatest possible value of the breadth of the garden is
(a) 18 m
(b) 20 m
(c)22m
(d) 23 m
4. What is the least possible length of the garden?
(@) 34 m
(b) 36 m
()37 m
(d) none of these
5. What is the greatest possible length of the garden?
(a) 47 m
(b) 51 m
(c)46m
(d) none of these



2. Case Study II : A few countries such as the USA officially use Fahrenheit as a unit for
measuring temperature. Other countries prefer Celsius over Fahrenheit. The two

2 C
different scales are related by the linear equation 5 = T .A scientist wants to store

an experimental solution between a temperature range of 68°F and 77°F.
Based on the above information, answer the following questions:
1. The algebraic representation of the given information in degree Celsius is :

(@68<gc+3257zc€R

(M68$§C—3257ZC€R

(c)68 < 2C - 32<77,CeR

(d) 68 < 2C + 32 <77,CeR

2. The solution set for the temperature in degree Celsius is :
(@) {CeR:18C < 23}
(b) {CeR:20C < 25}
(c){CeR:22C< 27}
(d){CeR:25C < 30}

3. What is the range of the temperature in degree Celsius?
(@) between 20°C and 25°C
(b) between 25°C and 30°C
(c) between 18°C and 23°C
(d) between 22°C and 27°C

4. Which of the following is the graphical representation of the temperature in degree
Celsius?

(a)

-30 -25 -20 -15 -10 -5 0 5 10 15 20 25 30

b < : : : : : : . . . : —>
(®) <35 2520 1510 5 0 5 10 1b 20 725 730
vov
22 27
(c) <+ : : : : : : : : : O —»
-30 -25 -20 -15-10 -5 0 5 10 15 20 25 30
(d) <+ f ; f f f f f ; (O —+ —>
-30 -25 -20 -15-10 -5 0 5 10 15 20: 25 30
VA /
18 23

5. If the minimum temperature that can be maintained in a particular refrigerator is
0°C, what is the possible temperature range of the refrigerator on a Fahrenheit

scale?

160
(a) F> ?

160

(c) F> 32
(d) F< 32

3. Case Study III : In drilling world's deepest hole, the Kola Superdeep Borehole, the
deepest man-made hole on the earth it was found that the temperature T in degree
Celsius, x km below the earth's surface was given by T = 30 + 25(x - 3) & 3 < x < 15.
If the temperature lies between 180° C to 330° C, then based on this information,
answer the following questions.

1. The linear inequation for the depth of the hole is :
(@) 180 < 30 + 25 (x - 3) < 330
(b) 180 <30 + 25 (x - 3) <330
(c)330 <30+ 25(x-3) <180
(d) 330 <30+ 25(x-3) <180



2. The solution set for the depth is :
(@) {xeR:6<x=<12}
(b) {xeR:9=<x=<12}
(c){xeR:3=<x<15}
(d){xeR:9=<x<=<15}

3. The minimum possible depth of the hole for the given temperature range is :
(a) 3 km
(b) 6 km
(c) 9 km
(d) cannot be determined

4. The maximum possible depth of the hole for the given temperature range is :
(@) 9 km
(b) 12 km
(c) 15 km
(d) None of these

5. Which of the following is the graphical representation of the solution set for the
depth of the hole for the given temperature range?

(a) < f f f f f @—
-15 -10 -5 0 5 10 15
v
9
b) = : : : : : — ———>
® -15 -10 -5 0 5 , 10 15
v v
6 12
(c) = : : : : *— . o>
-15 -10 -5 0 i 5 10 15
A
3
(d) < : : : : : O O
-15 -10 -5 0 5 1 10 15
v
9

Chapter — Quadratic Equations (Using Formula)

1. Solve for x and give your answer correct to 2 decimal places :

1. xX2-10x + 6 2. X2 +7x=7 3. x2-7x+3=0
4, 2x%2 -6X + 3 5. 3x2-x-7=0 6. 3x2-32x+12=0

7. 4x2-7x+2=0

2. Solve for x the quadratic equation x? - 4x - 8 = 0. Give your answer correct to three
significant figures.

Chapter - Quadratic Equations (Nature of roots)

Find the values of k for which each of the following equations has equal roots :

9x% + kx + 1=0

x2-2kx +7k-12=0
Bk+1)x*+2(k+1)x+k=0
x2-2(5+ 2k)x + 3(7 + 10k) = 0
(k+1)x>+2(k+3)x+(k+8)=0
kx?2 + kx + 1 = - 4x% - X
3kx? = 4(kx - 1)

x> +4kx + (k*-k+2)=0

®NOU A WN =



Chapter - Quadratic Equations (MCQ)

CASE STUDY BASED QUESTIONS

Case Study I : Some students planned a picnic. The total budget for hiring a bus was ¥1440.
Later on, eight of them refused to go and instead paid their total share of money towards the fee
of one economically weaker student of their class and thus, the cost for each member who went
for picnic is increased by %30.

1. If x students planned for the picnic, then the share for hiring the bus per student who went
for the picnic, was :

(a) T 30x

(b) ¥ 1440x

2. The algebraic representation of the given information in the form of a quadratic equation is:
(@) x*-8x-384 =0
(b) x2+8x-384=0
(c)x?-8x-184=0
(d)x2+8x-184 =0
3. How many students went for the picnic?
(a) 24
(b) 16
(c) 32
(d) 2
4. How much money was paid towards the fee?
(a) %280
(b) %340
(c) 420
(d) %480
5. What would be the share of each student if all the students had attended the picnic?
(a) 90
(b) %30
(c) %60

(d) None of these



Case Study II : A bus travels at a certain average speed for a distance of 75 km and then travels
a distance of 90 km at an average speed of 10 km/hr more than the original speed. If it takes 3
hours to complete the total journey, then based on this information, answer the following
questions:

1. If the original speed of the bus be x km/hr, then time taken by the bus to travel the next
given distance is :

(a) (7)(—5) hours
(b) (%) hours

(c)( 20 )hours

X + 10

(d) (X ?010) hours

2. The quadratic equation for the given information, if the original speed of the bus be x km/hr,
is :

(@) x> + 45x - 250 =0
(b) x2-45x-250=0
(c) x*-75x-450 =0
(d) x> -45x + 250 =0
3. The original speed of the bus is :
(a) 50 km/hr
(b) 40 km/hr
(c) 75 km/hr
(d) 60 km/hr
4. The speed of the bus during which it travels the distance of 90 km is :
(a) 70 km/hr
(b) 50 km/hr
(c) 60 km/hr
(d) 85 km/hr
5. The time taken by the bus to travel a distance of 510 km with the new speed is :

(a) 8 hours

1
(b) 85 hours
1
(c) 10§ hours

3
(d) 122 hours

3k 3k >k 5k >k 5k >k 3k >k 3k 5k >k 5k >k >k 5k Kk >k >k >k >k >k kK >k >k >k >k



PHYSICS (CLASS -X)
HOLIDAY HOMEWORK (2024-45)

A. ICSE BOARDS QUESTIONS OF YEAR 2019, 2020, 2022, 2023 and
2024 FROM CHAPTER 1, CHAPTER 2 and CHAPTER 3.

B. Choose the correct answers to the questions from the given
options.

QUESTION 1

The moment of force of 12 N force about a point X is 3 Nm. What is the
distance of the point of application of the force from the point X?

(@) 25 m (b) 25cm (c) 0.25cm (d) 0.4cm
QUESTION 2

The iron door of a building is 3m broad. It can be opened by applying
force of 100 N normally at the middle of the door. Calculate the least force
needed to open the door.

(a) O N (b) 25N (c) 50N (d) 100N
QUESTION 3

A body is acted upon by two unequal forces in opposite direction, but not
in the same line and there is no fixed pivoting point. what will happen to
the body?

(a) body will have rotational motion

(b) body will have rotational motion

(c) body will have both rotational and translational motion
(d) no motion will be there in the body.

QUESTION 4

The centre of gravity of solid cone of height h is at a distance “x” from its
vertex. The value of x is-

(a) 2h/3 (b)3h/4 (c)h/3 (d)h/4
QUESTION 5

Which among the following is correct regarding centrifugal force:
(a) it is a real force

(b) it acts along the radius towards the centre of the circular path



(c) it is not a force of reaction due to centripetal force
(d) numerically centripetal force is greater than centrifugal force

QUESTION 6

A uniform half meter rule can be balanced at the 30 cm mark when a
mass of 40 g is hung from its one end. The mass of the meter scale is-

(a) 20 g (b) 160 g (C)40g (d) 100 g
QUESTION 7

The centre of gravity of a body depends upon:

(a) mass of the body

(b) density of the body

(c) acceleration due to gravity

(d) distribution of mass of the body

QUESTION 8

A steering wheel of diameter 50 cm is rotated clockwise by applying
couple with each force of magnitude 7 N. The moment of couple applied is

(@) 1.75Nm (b) -1.75Nm (c)3.5Nm (d)-3.5Nm
QUESTION 9

What should be the angle between direction of force and direction of
displacement so that work done is maximum?

(a) 0° (b) 90° (c)180° (d) 45°
QUESTION 10

Work done by an opposing force on a moving body is 40 J such that the
initial K.E of the body of “x” J decreases to 50 J. The value of x is:

(a) 10 ] (b) 90 J (c) 50 3 (d)
40 3

QUESTION 11
Which physical quantity does the “electron volt” measure?

(a) energy (b) power (c)torque (d) focal
length

QUESTION 12



A force of 10° dyne displaces a body by a distance of 4m at an angle 6 to
its own direction. If the amount of work done is 20 J, then 6 is

(a) 0° (b) 60° (c) 45°
(d) 30°

QUESTION 13

A weighing 200 N runs on a straight road with K.E of 160 J. His velocity is
(9=10N/Kg)-

(a) 4 m/s (b) 40 m/s (c) 16 m/s
(d) 1.6 m/s

QUESTION 14
In a thermocouple, the change in energy is from:

(a)electrical to heat(b)electrical to mechanical (c)heat to
electrical(d)mechanical to electrical

QUESTION 15

How fast should a man weighing 600 N run so that his K.E is 750 J.
(g=10N/Kg)

(a)5 m/s (b) 25 m/s (c) 50 m/s (d) 10
m/s

QUESTION 16

The power of a motor is 80 kW. At what speed can motor raise the load of
10,000 N?

(a) 20 m/s (b) 80 m/s (c) 40 m/s (d) 1
m/s

QUESTION 17

If a machine is used as a speed multiplier, then which of the following
statement is correct?

(a)displacement of load is greater than displacement of effort at the same
time

(b)displacement of effort is greater than displacement of load at the same
time

(c)velocity of load is greater than velocity of effort

(d)both (a) and (c) are correct.



QUESTION 18

Among the following related to a machine, which one remains constant?

(a) efficiency (b) mechanical advantage (c) dissipation of energy (d)
velocity ratio.

QUESTION 19

How is mechanical advantage (M.A) of a machine related to its velocity
ratio (V.R) for a practical machine?

(a) M.A = V.R (b) M.A >V.R (c) M.A<V.R (d) M.A =V.R
QUESTION 20

In a single movable pulley, if the effort moves by a distance 20 m
upwards, by what height load is raised?

(@) 40 m (b) 20 m (c)5m (d) 10 m

QUESTION 21

In a block and tackle system, the distance moved by load is 20 m when
the distance moved by effort is 100 m (effort being applied in downward
direction) .

(i) find its velocity ratio.

(a) 0.2 (b) 5 (c) 120 (d) 80

(ii) what is the mechanical advantage of the above pulley, if its efficiency
is 80 %.

(a) 4 (b) 5 (c) 4.5 (d) 3.5%

(iii) what is the total number of pulleys in the above block and tackle
system

(a)5 (b)4 (c) 3 (d) 6
QUESTION 22

A man opens a nut by applying a force of 200 N by using a lever handle of
length 0.5 m. what should be the length of the handle if he wants to open
it by applying a force of 50 N?

(a)2m (b) 3 m (c) 0.25 m (d)1m
QUESTION 23



Nm/s is the unit of which physical quantity?

(a) work (b) force (c) torque (d) power
QUESTION 24

Which process is used in nuclear power plant to generate electricity?
(a) law of conservation of energy

(b) principle of moments

(¢) nuclear fusion

(d) nuclear fission.

QUESTION 25

A boy weighing 360 N climbs up 50 steps, each 20 cm high in 2 minutes.
Calculate the power spent. (g=10 N/KQg)

(@) 30 W (b) 20 W (c) 300 W (d)3 W

C. Write questions and answers of the chapters covered before the
commencement of the summer vacation.
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HUMAN BIOLOGY (Writethisat the center of a fresh page.)

Prepared by Department of Biology, Don Bosco Academy. Patna (not to copy)
Experiment 12 ( Each Experiment hasto be started on a new page)
Study of blood sample

Constituent of blood Plasma, formed cells
Plasma 55 % - 60 % of total blood volume
Colour Straw coloured
Composition 90 — 92 % water, 8% blood protein, 1 % of inorganic
salts
Erythrocytes
Shape Bi concave and disc like
Life span 120 days
Size 3 microns in diameter
Function It contains respiratory pigment called hemoglobin

which transports the respiratory gases

L eucocytes

Shape Amoeboid and irregular

Size 8 — 10 microns

Types Neutrophil, Eosinophil, Basophil, Lymphocytes,
Monocytes

Function phagocytosis , They produce antibodies to neutralize
the effect of antigen.

Life Span 14 days

Thrombocytes

Shape Oval or polygonal

Size 5 microns

Function It initiate the process of clotting

Life Span 3-5days

Diagram:- All diagrams areto be drawn and labeled with pencil on the plain side of the opposite side
where you have written the above notes)

Red Blood Corpuscles

Plasma

White Blood Corpuscles

Experiment 12

Study of Human Heart

Location The heart is located in the thoracic cavity between
two lungs.

Shape Itis more or lesstriangular in shape

Size It is as big as one’s fist

Pericardium The heart is covered by double layered pericardium

enclosing pericardial fluid
Blood Vessels arising from heart _ _ _
Aorta It arises from left ventricle and carries oxygenated
blood to different body organs

Pulmonary artery It arises from the right ventricle and carries




Coronary Artery

Vena Cava

Pulmonary Vein

Chambers of Heart

Valves

Chordae Tendinae

Papillary Muscle

deoxygenated blood to lungs

It originates from the aorta and supplies oxygenated
blood to the muscles of heart

Superior and inferior vena cava brings deoxygenated
blood from various parts of the body to the right
auricle

It brings oxygenated blood from lungs to the left
auricle

The human heart consists of four chambers. Auricles
are the upper chambers and ventricles are the lower
Chambers

Tricuspid valves are located in the right ventricle at
the aperture of right auricle to the right ventricle .
Bicuspid valves are located in the left ventricle at the
aperture between the left auricle to the left ventricle.
Semilunar valves are located a the origin of
pulmonary artery in the right ventricle and aorta in
the left ventricle

They are tendinous chords which holds the flaps of
cuspid valves.

They are muscular projections of the ventricular
walls to which chordate tendineae are attached.

Diagrams ( Both diagrams can be drawn on the same page or two different pagesin case the notes
exceedsto the next page)

External View

Aortic Arc
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Experiment No. 13
Study of Human excretory system

Kidney

Ureter
Urinary Bladder

Urethra

They are bean shaped reddish brown organs located
on either sides of the lumbar vertebrae protected by
last two ribs.

It isamuscular tube arising from the median surface
of each kidney and joins with urinary bladder.

It isalarge distensible sac located in the pelvic
region

It is a short muscular tube leading outside from the
urinary bladder

Internal Structure of Human Kidney

Capsule
Renal Cortex

Renal Medulla

Pelvis

It is the outer protective covering of the kidney

It is the outer region of the kidney formed of
malphigian body, proximal and distal convoluted
tubule. It is dark red and has dotted appearance.

It isthe inner region of the kidney consisting of
Henle’s loop and collecting ducts. It islight red
It is the anterior expanded part of the ureter.

Diagrams. (( Both diagrams can be drawn on the same page or two different pagesin case the notes

exceedsto the next page)

Human Urinary System

Inferior vena cava

Right kidney -

Renal vein

Urecter

Thac vein

Urinary bladder ——

Urethra —

Aorta

~ Adrenal gland
Left kidney

Renal artery

Iliac artery

L.Sof aKidney

Medulla

SN
Cortex —

Renal capsule =~

LS of human kidney

7 — Renal anery

\;— Renal vein

Renal pelvis
Ureter
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Experiment No. 14

Aim

To study a Human Neuron

Structure

Function

Nissl’s Granule

Dendron
AXon
Neurolemma

Myelin sheath

Node of Ranvier

These are RNA protein complex which synthesis the
protein to form enzyme required for the Synthesis of
Neurotransmitter

They receive impulses from other neurons or
receptors and pass them to cyton of next neuron.

It transmits impulse to next neuron or the effector
organ

It provide protection and insulate the axon to prevent
the leakage of nerve impulses.

It provide insulation to axon and prevent the leakage
and mixing of the nerve impulses. It also increases
the speed of nerve impulse transmission.

They are associated with the conduction of nerve
impulses and exchange of food and oxygen between
nerve tissue and its surrounding.

Diagram

o
D
—
-
p -
=2

neunlemma

cylon

3 (@)
)\ O

C%

nucleus

node of Ranvier

medullary sheath

terminal
branches

axon

Experiment No.15

Aim To study the structure and Function of Brain.
Structure Function
1. Forebrain
Cerebrum It is the seat of the consciousness, intelligence,

Corpus callosum

memory, reasoning etc. It recelves the
impulse from different parts of the body and initiate
al the voluntary activities. It is also a centre for
hearing.
It connects the two cerebral hemispheres from base.
It also transfer impulse from one

hemisphere to other

Thalamus It acts as the relay station for incoming sensory
impulse and out going motor impulse to and from
cerebrum

Hypothalamus It is the regulatory centre fo thirst, hunger, and body
temperature. It also controls the functioning of
pituitary gland.

2. MidBrain It lies sandwich between the fore brain and the hind
brain.
3. Hind brain

Cerebellum It regulates and co ordinates the group movement of
muscle and thus maintains balance of body and
posture.

Pons Verolli It transmit nerve impulses across the nerve fiber that




Medulla Oblongata

connects the two lobes of cerebellum and ensure co-
ordination of muscle movement on both the sides of
the body.

It is a nerve centre situated within the medulla
controls the activities of internal organs such as
working of heart, breathing and other involuntary
actions.

Diagrams ( Both diagrams can be drawn on the same page or two different pages in case the
notes exceeds to the next page)

External View

Cerebrum

Cerebellum

Pons
= Medulla Oblongata

M edian Section

Forebrain
(cerebrum)

.
-2 S \)
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- e /—\:‘?J_)

e S o .
Midbrain , 4‘1» AN E 3\/
L Y Hindbrain
Medulla / (cerebellum)
lon
RRRgE \\ \ Spinal cord
Experiment No.16
Aim To study human eye.
Structure Function
Sclera It is the outer tough, white, opague, non elastic layer
of the eye ball. It continues in front as cornea. It
provides shape to the eye ball.
Choroid It isthe middle , pigmented, vascular layer of the eye
ball .It prevent light rays from reflecting and
Scattering inside the eye.
Retina It is the inner most photosensitive layer of the eye
ball containing rods and cone cells.
Y ellow spot It is the area of brightest vision and also for colour
vision. It lies at the center of the retina
Blind spot. It is an area of no vision as there is no rod and cone
cells located.. Here the optic nerve arises, which take
the nerve impulse to brain.
Lens It isacrystalline , transparent, biconvex body held in
position by the suspensory ligament.
Cornea It is the part of the sclerotic layer that bulges out and

become transparent in the front region where .It
covers the coloured part of the eye. It alows the light




rays to pass through.

Ciliary body It lies at the junction of the choroids and iris. It
contains smooth muscles which alter the shape of the
Lens.
Diagram
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o ~ ligaments
:?«' - 7“(-%.
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Experiment No. 17

To study structure of human ear.

Function

ciliary

muscles
Aim
Structure
Pinna
Auditory canal
Ear drum:
Eustachian Tube
Ear osscicles
Inner Ear

Utriculus and Sacculus

Cochlea

Organ of Corti

Vestibule

Semicircular canal

It is a skin covered flap of elastic cartilage. Muscles
also present on it from either sides of the head. It
collects sound waves and direct them in to the
auditory canal.

It is “S” shaped tube leading inward from the pinna
of the external ear. Sound waves travel from pinna.
To the tympanum through the auditory canal.

Thin, oval ,tightly stretched membrane closing the
external ear internally. It converts sound waves into
mechanical vibration.

A passage that connects the cavity of the middle ear
with the throat or naso pharynx. It equalizes air
pressure on ither side of the tympanum.

A chain of three small articulated bone that crosses
the tympanic cavity of the middle ear.Ilt magnifies
and transmit the sound vibrations in to the inner ear.

It is aso referred as membranous labyrinth
surrounded by bony labyrynth filled with perilymph.
It has Cochlea, vestibule and semicircular canal.

Found on the vestibule and are concerned with static
balance of the body

Spirally coiled tube of about two and half turn
resembling snails shell. The cochlear canal contain
organ of corti.

Found on the basilar membrane of the median canal
of cochlea and are concerned with hearing.

It is the central canal sac like part of the inner ear
consisting of two chambers utricles and sacculus.

A set of three semicircular canal in each ear which
are arranged at right angles to each other in three
different places. It helps in maintaining dynamic
balance of the body.




Diagram

Stnﬁc:
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oval window)
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Malleus
Nerve

Semicircular

/ Canals
Vestibular

Study of human endocrine glands.

It consisits of ductless endocrine glands which
secrete hormones into the blood stream.

It is a small pea sized gland attached to the
hypothalamus of the brain. It is also called master
gland because it secretes tropic hormones which
controls the secretions of other endocrine glands in
the body

A pair of adrenal glands are located above the kidney
fitted like a cap. Each adrenal gland consists of two
regions - Adrenal cortex and adrenal medulla. The
adrenal cortex secretes cortisone which helps in
fighting stress. Adrenal Medulla secrete Adrenaline
which is an emergency hormone.

It is a heterocrine gland located just below the
stomach. It consists of endocrine tissue called Islets
of Langerhans formed of Alpha Cells and Beta cells.
Alpha cells secrete glucagon and Beta cells secrete
insulin

It is a bilobed gland present in front of the neck
below the larynx. It secretes thyroxine which
regulates the basal metabolism of the body.

Ry
\ Cachica
Extemal
Auditory Canal : ::[i);:n.r \
Tympanic ‘ Lu:;“.ecman Tube
Membranse Round
Window
Experiment 18
Human Endocrine Glands
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Thank Y ou

Wish You All The Best
By

Department of Biology, Don Bosco Academy, Patna.




HISTORY HOLIDAY HOMEWORK-2024-25
STD X

1.) Write the MCQ and Short Answer Questions from the Previous Year Board papers from
2018 onwards till 2023, for the following chapters- Union Legislature, Union Executive,
Union Cabinet and The First War of Independence.

2.)) Thoroughly learn the chapters taught in class.

3.) Make the History Project for your internal assessment according to the instructions
mentioned below.

HISTORY PROJECT

FIRST WORLD WAR- CAUSES AND CONSEQUENCES

Instructions:-

1.) The students should only use the school practical copy consisting of 96 pages. (Around
Rs 65).They will cover it with a cellophane paper. Only school practical copies will be
accepted.

2.) Students shall not use red or green pen for writing. Only black or blue pen can be used.
3.) Students may either paste black and white or coloured pictures. They may even draw
sketches of characters/events. A brief description of the picture pasted should be provided.
4.) The project should contain a minimum of 30 pages. The maximum page limit lies on the
discretion of the student.

5.) The students shall not to decorate the project with any stickers or other ornaments.

6.) The students shall fill in the details- name, class, section and roll number correctly.

Content:-

The following order is be followed for the History Project.

1.) Acknowledgment

2.) Content/ Index

3.) Introduction to History Project

4.) Introduction to First World War- A brief sketch of the political scenario leading to the
First World War, Uniqueness of the War

5.) Causes of the War- All causes such as Franco Prussian War, Armament Race,
Imperialism, Immediate Cause to be discussed in detail

6.) Events to be mentioned briefly for chronology.

7.) Consequences- Treaty of Versailles, Treaty of Sevres, Territorial Rearrangement,
Formation of League of Nations and other consequences to be discussed.

8.) Conclusion (it should be your own interpretation)

9.) Bibliography (sources from which the content has been drawn)

10.) Thank You

Note:-
The students should submit the Project on 5th July, 2024. It is mandatory to submit the
work on time.

4.) Make 20 MCQs from all the chapters taught: Civics: Chapters 1, 2, 3 and History:
Chapters 1.Write them in your fair notebook.



